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GRAYS TUITION CENTRE 71 Online Tutoring

WEEK: 3
Week Beginning: 04/01/2021)
Subject: MATHS
Year: 5 (11+)

Lesson Objective:

1 Understandhghow to answer questions related tdean,Mode,
Median andRange
9 Develop alearstrategy toanswerMean, Mode, Median and Range

Class Worksheets

1 Start off by giving answers for the homewdA¢cea question
1 Go throughthe 4 types of questions (mean, mode, median and rang
9 Startpractice questions for each type

Homework

1 Mean, modemedian and rang&orksheetc Attached below

Additional Notes

1 Week2 Homework will be marked in lesson

M All lesson worksheets arfibmework for next week (due Weeld) worksheets car
be found below
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9. Calculate the mean of these numbers.

9 14 7 17 8

ANSWET: .....oooeviiiiiiiieeceee, (2)

28. The mean of Jane’s six Mathematics test is 89%. After her
seventh test the mean increased to 90%. What did Jane score in her
seventh test?

|A|95% |B|89% | C|96% /D |90% |E |93% |

19. The heights, in metres, of eleven children are

1.32,1.47,1.43,1.32, 1.35,1.46, 1.49, 1.32, 1.37, 1.49, 1.48

19. a) What is the mode height?

A 149 Bl 1.32 C|1.46 D 147 E 135

19.  b) What is the median height?

A 149 B 144 Cl143 D 146 E 135
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13a. Dillan wrote down how many pages he read over the past 5 days.

Pages read
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0
I
g - § & 3
Day

What is the median of the number of pages which he read?

25. The number of students absent from Year 7 was recorded as follows.

Monday Tuesday Wednesday Thursday Friday
4 6 5 3 ?

If the mean number of students absent that week from Year 7, was 4, how many
students were absent on Friday.
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13b. Some students compared the number of pets which they had. The results are displayed
below.

Pets

[
(=}

Number of pets
O = N WA WVONO® VY

}

Harold
Kwan

Find the range of the number of pets owned.

Question 24

Below is a list of numbers that Wanda collected on her travels.
3 45 24 41 36 48 22 45 8 11 45

a) What is the mode of this data set?

Answer
b) What is the range of this data set?

Answer
c) What is the median of this data set?

Answer

[3 Marks]|

16. The mean (average) of five numbers is 28. The mean of a different set of twelve
numbers is 11. Calculate the mean of all of the numbers together.

Answer: [3]
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17. The mean (average) of seven numbers is 9. One number is removed and the
mean increases to 10. Find the number which was removed.

Answer: [3]

8. In a survey a group of children were asked how many siblings (i.e. brothers and
sisters) they have. No-one in the group had more than three siblings, and the
results are shown in the pie chart below.

[

45°

(a)  Write down the percentage of children who have two siblings.

Answer: % [1]

(b) Work out the fraction of children who have no siblings, giving your
answer in its lowest terms.

Answer: [2]
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8. Ina survey a group of children were asked how many siblings (i.e. brothers and
sisters) they have. No-one in the group had more than three siblings, and the
results are shown in the pie chart below.

[ ]

45°

8 of the children who were surveyed had one sibling.

(¢) Fill in the table below to show the number of children who have 0, 2 and

3 siblings.
Number of siblings 0 1 2 3
Number of children surveyed 8

(3]

(d) Write down the mode of the number of siblings.

Answer: 1]
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35. A, B and C are numbers.
The mean of A and B is 40
The mean of B and C is 35
All three numbers add up to 100

What are A, B and C?

Al6 Here are the ages of some dogs waiting at a vet clinic:

1, 3, 4, 4, 5, 6, 6, 6, 10

a) How many dogs were there? Answer: 1]
b) Find the mode of the ages of the dogs.  |Answer: (1]
¢) Find the total of the ages of all the dogs. |Answer: (1)

d) Find the mean of the ages of the dogs. Explain how you did it.

m Answer: (2]

r
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13. Tim has three apples. The mean (average) weight of the
three apples is 90 grams. When Tim eats the largest apple,
the mean weight of the remaining two apples is just 70 grams.

13
What was the weight of the largest apple? i

18. The Archer family has 4 children who receive £2, £5, £3 and £2 pocket money
each week.

(a) Calculate the average pocket money (use the “mean” average).

(c) The Jones family have 5 children who each receive an average of £3.50 a
week and the range of amounts is £1.
Compare the amounts given to the children in these two families.

13.There are four unknown positive whole numbers.
The mean of the two smallest numbers is 3.
The mean of the three smallest numbers is 5.
The mean of all four numbers is 7.
All the numbers are different and odd.
What are the four numbers?

Answer (5]

22. Sujatha's marks in 4 tests were 16, 15, 16 and 10.

What was her mean score?

Answer ..............(1 mark)
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13. The mean length of a crocodile is 7.5 m and the mean
length of an alligator is 4 m. If | have 4 crocodiles and
6 alligators what would be the mean length of all
10 creatures together?

13 m
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